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1| BAT |5 +ak 3-203-2-008 23,924 125 0 0.02
2 |40 BAH % THR 3-203-2-009 5779 [ 288 0 0.01
3 |[{BER BAT o TRk 3-203~2-011 17,547 278 0 0.02
4 |{F&R BXh [BHEBTLA |TAE HEKII10 247,949 278,368 0 0.80
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1 |{340 BAT AR %1@#411@0)%1& 1 -3039 1,680 579 0 -0 13 35
2 |{F4E0 o Nitl fHEF 2 S2EsHh O EE 1-3040 1,380 503 24 0 13 35
3 [{F48 i N il MEL AERI O 1 -3041 1,914 874 4 1 14 37
4 |(FER i g~ SRR 5% T -208 3,018 1,196 0 0 16 40
5 |{F4R BT ML BRI D HRR] T -209 3,451 1,242 0 0 22 32
6 |{RED BAh W4 SEfh gAiR T-210 996 232 3 0 10 48
7 |{F#B BAm ML |BERh ORI -211 6,401 2,469 7 0 27 38
8 |{R#&R BAH  |[#BA SMERIh OIS T-212 5 469 1,893 3 0 22 41
9 1B ERT e 2 SUERHh D R T -213 11,131 3,505 2 1 19 45
10 {388 BAT |sBA SERHh D HAIE| T -214 4979 1,773 1] 1 20 43
11 {340 FENI e AL SEShO BE 1 -374 423 - 1 0 9 84
12 {748 BARh HEF A SERIHh D EEiE T -67 3,081 981 0 0 18 42
13 |{F4R it HEL 2{EfI D ERIE 168 1,751 177 4 1 8 55
14 [{FEB il NG SRS o BiiEl 1 -3035 6,451 1,099 16 13 8 53
15 {748 BARF G 2 {Ep o BRiE| T -159 4,134 1,184 4 2 10 37
16 |{F#L B IR SlEfho) A T -160 5,052 1,676 2 2 17 40
17 143730 EAT /DNEA SERI MO ERIE T -170 2,066 632 2 0 11 38
18 |{R40 BXH [ StES h D ERiE 1 -3068 5,712 1,160, 13 0 11 50
19 |{R&] BAD g7 2 (@8 ERiE 1 -3069 9,120 2,357 15 2 10 44
20 |74 AT [ StEflho) BiiEl 1 ~202 2,466 963 0 0 15 40
21 {74 EAH B Z1asih o g 1 -203 1,622 610 2 1 17 34
22 |{RE&R EATh g SEfHh O BRI -204 2285 853 1 1 15 35
23 |{RAR BRI £ StERIHh @ BRIE| T -205 2,289 755 2 0 14 34
24 |{F4R EAH gF RtERIh @ BidRl O -206 2,432 1,060 B 0 26 33
25 |78 EBAT (53 SIEfth BRLE O -215 3,229 433 1 1 11 43
26 |{RER wmAH 5 AEfith DR I-72 1,232 199 0 0 8 38
27 1B8 . [BBAKth .k 2ER D FRiE 1 -3071 36,054 12,545 14 1 20 43




